







Solve by Subs. method:

System: In consistent

Egns: Independent

No Solution

Solve by addition/Elimination

$$3\left(\frac{\chi}{3} - \gamma\right) = 2$$

$$\frac{3}{3} \left( \frac{\chi}{3} - \chi \right) = 2$$

$$2 \left( -\frac{\chi}{2} + \frac{3\chi}{2} \right) = -3$$

$$\int x - 3y = 6$$

$$\begin{cases} -x + 3y = -6 \end{cases}$$

whenever you have

fractions, use LCD

to clear them.

 $\begin{cases} x - 3y = 6 \\ -x + 3y = -6 \end{cases}$  True infinitely many Solns.

System: consistent

Egns: Dependent.

SG 11 Due Tuesday

3

$$\frac{Ch. 4}{n} = \text{Exponential Rules}$$

$$\frac{h}{n} = \frac{x \cdot x \cdot x \cdot \dots \cdot x}{x + i \text{mes}}$$

$$\frac{3}{4} = \frac{3}{4} \cdot \frac{3}{$$

2) 
$$x^{1} = x$$
  $y^{1} = y^{2}$ ,  $(-2)^{1} = -8$   
 $(-2)^{1} = -2$ ,  $(-5x^{4})^{1} = -5x^{4}$   
3)  $x^{0} = 1$ ,  $x \neq 0$   $5^{0} = 1$ ,  $(-100)^{0} = 1$   
 $(2017)^{0} = 1$ ,  $(-4x^{6})^{0} = 1$ ,  $x \neq 0$ 

4) 
$$\chi^{m} \cdot \chi^{n} = \chi^{m+n}$$
  $\chi^{4} \cdot \chi^{2} = \chi^{4+2} = \chi^{6}$   
 $\chi^{8} \cdot \chi^{5} \cdot \chi^{7} = \chi^{8+5+7}$   
 $= \chi^{20}$   
 $= \chi^{0}$   
(10 $\chi^{4}$ )  $\cdot$  (10 $\chi^{4}$ )  $\cdot$  = (10 $\chi^{4}$ )  $\cdot$  (12+18  
5)  $(\chi^{m})^{n} = \chi^{m} \cdot \chi^{0}$   $= (\chi^{8})^{7} = \chi^{8+7} = \chi^{56}$   
 $(\chi^{10}) \cdot (\chi^{7}) = \chi^{10} \cdot \chi^{35} = \chi^{30+35} = \chi^{65}$ 

6) 
$$(xy)^{3} = x^{3}y^{3}$$
  $(2x)^{5} = 2^{5} \cdot x^{5}$ 

$$= 32x^{5}$$

$$(-3x^{2})^{4} = (-3)^{4}(x^{2})^{4}$$

$$(-5x^{3}y^{10})^{3} = (-5)^{3}(x^{3})^{3}(y^{0})^{3}$$

$$= \sqrt{-125}x^{9}y^{30}$$

$$= (-5)(-5)(-5)$$

$$\frac{\chi^{8}}{\chi^{7}} = \chi^{8-3} = \chi^{5}$$

$$\frac{\chi^{21} y^{8}}{\chi^{20} y} = \chi^{21-20} y^{8-1}$$

$$\frac{(\chi^{6})^{5}}{(\chi^{10})^{3}} = \frac{\chi^{30}}{\chi^{30}} = \chi^{30-30}$$

$$= \chi^{0} = 1; \chi \neq 0$$

$$\frac{8}{(\frac{x}{y})^{2}} = \frac{x^{n}}{y^{n}} \qquad (\frac{2}{3})^{\frac{1}{3}} = \frac{2^{\frac{1}{4}}}{3^{\frac{1}{4}}} = \frac{16}{81}$$

$$\frac{x^{2}}{(\frac{x^{2}}{3y^{4}})^{2}} = \frac{(x^{2})^{2}}{(3y^{4})^{2}} \qquad (\frac{-3}{5})^{\frac{1}{5}} = \frac{(-3)^{3}}{5^{3}} = \frac{-21}{125}$$

$$\frac{x^{5}}{(\frac{x^{5}}{3y^{4}})^{\frac{1}{4}}} = \frac{x^{20}}{(\frac{x^{5}}{3y^{4}})^{\frac{1}{4}}} = \frac{x^{20}}{(\frac{x^{5}}{3y^{4}})^{\frac{1}{4}}} = \frac{x^{20}}{(\frac{x^{5}}{3y^{4}})^{\frac{1}{4}}} = \frac{x^{4}}{(\frac{x^{5}}{3y^{4}})^{\frac{1}{4}}} = \frac{x^$$

Simplify 
$$(\chi^{7})^{3} \cdot (\chi^{4})^{2} = \frac{\chi^{21} \cdot \chi^{8}}{\chi^{16} \cdot \chi^{5}}$$
  
 $(\chi^{7})^{3} \cdot (\chi^{4})^{2} = \frac{\chi^{21} \cdot \chi^{8}}{\chi^{16} \cdot \chi^{5}}$   
 $(\chi^{7})^{2} = \frac{1}{\chi^{7}}$   
 $(\chi^{7})^{2} = \frac{1}{\chi^{7}}$   
 $(\chi^{7})^{2} = \chi^{7}$   
 $(\chi^{7})^{2} = \chi^{7}$ 

$$\frac{10) \frac{x^{-m}}{y^{-n}} = \frac{y^{n}}{x^{m}} \frac{x^{-3}}{y^{-10}} = \frac{y^{10}}{x^{3}}$$

$$\frac{(x^{5})^{-3}y^{8}}{x^{5} \cdot (y^{-2})^{4}} \frac{x^{2}y^{7}}{y^{12}y^{-3}} = \frac{y^{3}y^{7}}{x^{12}x^{2}}$$

$$= \frac{x^{-15}y^{8}}{x^{5}y^{-8}} = \frac{y^{8}y^{8}}{x^{5}x^{15}} = \frac{y^{6}}{x^{20}}$$

11) 
$$\left(\frac{\chi}{5}\right)^{n} = \left(\frac{5}{\chi}\right)^{n}$$
  
 $\left(\frac{1}{2}\right)^{3} = \left(\frac{2}{1}\right)^{3} = 2^{3} = 8$   
 $\left(\frac{4}{\chi^{2}}\right)^{2} = \left(\frac{\chi^{2}}{4}\right)^{2} = \frac{(\chi^{2})^{2}}{4^{2}} = \frac{\chi^{4}}{16}$   
 $\left(\frac{\sqrt{5}}{\chi^{8}}\right)^{4} = \left(\frac{\chi^{8}}{\sqrt{5}}\right)^{4} = \frac{(\chi^{8})^{4}}{(\chi^{5})^{4}} = \frac{\chi^{32}}{4^{20}}$